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QUESTION 1

Your customer requires changes be made to the Order Management work areas. The customer would like to rearrange
the tab layout and hide attributes. Which statement is true about this requirement and customizations that an
administrator will be able to make? 

A. An administrator can only hide attributes and cannot rearrange the tab layout. 

B. An administrator can rearrange the tab layout, hide attributes, and add custom components such as links. 

C. An administrator cannot customize anything within the Order Management work areas. 

D. An administrator can rearrange the tab layout, hide attributes, and change default widths of columns and panels. 

E. An administrator can only add content and rearrange the tab layout. They cannot hide attributes. 

Correct Answer: E 

 

QUESTION 2

Which three statements are true about the Visual Information Builder interface? (Choose three.) 

A. Post-transformation rules and external integration routing rules can be created by using the Visual Information Builder
interface. 

B. The Visual Information Builder interface is a simplified drag-and-drop rule editor. 

C. In the Visual Information Builder interface, you create external interface routing rules by using the Manage External
Integration Routing Rules page. 

D. Pre-transformation rules and external integration routing rules can be created by using the Visual Information Builder
interface. 

E. In the Visual Information Builder interface, you create external interface routing rules by using the "Manage External
Integration Routing Rules for Sales Orders" page. 

F. The Visual Information Builder interface is the same as the editor for Oracle Business Rules. 

Correct Answer: BCD 

 

 

QUESTION 3

Which three statements are true about Discount Lists? (Choose three.) 

A. Users can define discounts for configurable models on Discount Lists. 

B. Discount rules can be defined at multiple levels: the root item, the components, or the entire configuration. 

C. Discount rules can be defined at the root level only. 
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D. Tier and attribute-based adjustments are supported only at the root item level. 

E. Tier and attribute-based adjustments are supported at multiple levels: the root item, the components, or the entire
configuration. 

Correct Answer: ABD 

References: http://download.oracle.com/ocomdocs/global/fusion_r11/scm/Pricing_Administration/
Pricing_Administration.doc 

 

QUESTION 4

What flow is depicted in the diagram below? 

A. Drop Ship 

B. Back-to-back 

C. Configure to order 

D. Consignment order 

E. Internal Transfer 

Correct Answer: A 

 

QUESTION 5

Which four options apply to the "Lead Time" mode? (Choose four.) 

A. Lead time can be specified in multiple ways. 

B. The item is promised on the requested date irrespective of availability. 

C. Calendars and transit time constraints are respected. 

D. No supply availability search is performed. 

E. The order promising engine does not generate any pegging. 

Correct Answer: ACDE 
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